
3. The two-way table below shows the number of students with each hair color and eye color.  

 
 
True or false?  Provide data to support your claim. 
 

a. Blonde students are more likely to have blue eyes than brown haired students. 
 
 

 
 
 
 
b. Green eyed students are as likely to have brown hair as brown eyed students are to have red 

hair. 
 
 

 
 
 
 
c. Students are four times as likely to have brown hair as they are to have red hair. 
 

 
 
 
 
 
d. Blonde haired students are much more likely to have light eyes (blue, hazel, green) than red 

haired students. 
 

 
 
 
 
 
e. Red haired students are less likely to have blue eyes than brown haired students. 

 
 
 
 
 



5. The table to the right gives information about 
numbers of students who do and don’t do chores 
and do and don’t collect allowance. 

 
 Are students who do not collect allowance more 

likely to not do chores? 
 
 
 
 
 Is it more likely for a student who does not do chores to collect allowance than it is for a student 

who does chores to not get an allowance? 
 
 

 
 
 

Solve for x. 
 
5� − 10 = 7� − 5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
4� + 11 − 2� = 4 +  3� − 5 
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